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Instructions to Candidates / Giearia 6n

(1)  There are 50 questions in the Test Booklet. ! mn
The answer of each question is any one
out of A, B, C and D. Four alternatives
are given with the question. You have to
answer all the questions. @

(2)  Each correct answer carries (1)one mark.
For each wrong multiple answer for each
question will be treated as wrong.:No
negative marking for wrong answer.

(3)  You have to answer on the OMR Sheet is &)
given separately to you. For example :
Which State of India has the longest Sea

Coast ?
(A) Maharashtra (B) Tamil Nadu
(C) Gujarat (D) Andra Pradesh

In OMR Answer Sheet :

ONON NC,

The true answer is "C". Hence circle of
"C" is blackened (encode).

(4)  Don't write anything on the Test Booklet.

(5)  Use blue/black inked ballpoint pen for 4)
filling responses in the OMR Answer | )
Sheet. Any other ink, pen or Pencil is
strictly prohibited.

(6) During exam from candidate, if any false
matter, guide, cheats, slips, any handwritten
material, any printed material, mobile phone,
pager, calculator or any electronic
equipments are found he/she will be
disqualified.

(7) Gossips, making noise or disobeying | (7)
instructions given by Invigilator will be
considered disobedience.

(8) Do Rough Work on last page. 8

(6)

Physical Education

AR

o ——— o

Candidate's Roll No. | Time :1 Hours |
| Total Ques. : 50 |

| Total Marks : 50 |

Do not open the Question
Booklet until ask to do so.

2 UAYRASIHE 54 50 Ul B, UdLs Ureil
i Gur A, B, C 24 D 441 A6 25 8.
el A8 o ARA sl 2l 2qidar
8. duR oH o Yol G 2ualHt 8.
uAs warl WA G w2 1(As) g B,
25 sl a4y fsey b SR wquen vl
oMl 2adl. w2t wdet W2 A AR suld
u9) 4l

Brix udl W2 wudad Gudadl (OMR
SHEET) 2udl 8.

G A1t Geleel UG BudlniL 8.
MURds 54 oy ALl aiell sRu-Bu3d
qud & ?

(A) M8 (B) dulaug

(C) AR (D) iumea

Guradl (OMR SHEET)4L

ONOX NO,

GuASd usirll AR Gur "C" 8. el "Co
ad® 519 (encode) 53¢ &.

UL UAYRaAsl 59 o avidid el
Griragldi Gu aredl [ stell wrgl-l
olaulf-2 Ueell iyl 8. vy wel, U
3 URAaa-l Guala 53 usd 4l

udlau g3 GReaR el 8185 wel sy,
s, wlelisy, swudl, €, wy
sellifid 3 B3 wlsc, Houdd v,
UoR, 3esydar 3 21y dlonyg, Guswll dlaid
U dl GAEARA 3AAIUS SARIAIML A
A udlan s HeAdie QAYA 5dl,
Ay A & Fdlaisl Y-y Gedus
539 o ARMRd 2Aeud.

WsI el U W 59,

Gara€l (OMR Answer sheet) & uaxi 8. udlan ydl wut eue Guradl (OMR Answer Sheet)l nux
B+{la1 ud (Scaning Copy) a3t Mflasa ua sal eue of qsfuiy Blsail @A, dx s 532 1l Riraeiaii
o aell udlen 2 % A Gz IR s 3adauil viad. ofle Gigar ud (Candidate Copy) GHedR U1l

as %S usd. uAyRRst 21 ol ud GAsdlR Wdi-ll A3 4 %S usq.
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Double periodisation has :

(A) One Transitional Period (B)
(C) Three Transitional Period (D)
soie Y0 ABuxn ¢

(A) s Asilas sua (B)
(C) =u1 isilas sunl (D)

Volume can be measured in terms of :

(A) Duration (B)
(C) Frequency (D)
ool (Volume) oWl asiy ©.
(A) Lum (B)
©) gk (D)

Two Transitional Period
None of these

& Asilas suo

yiefl 518 Al

Distance
All of these

dr
BUHLAL oYL %

Development of maximum strength should start at the age of :

(A) 8-10 years (B) 11-13 years
(C) 14-15 years (D) 16-18 years
o Rl a32id aefl ydl .
(A) 8-10 ad (B) 11-13 ad
(C) 14-15 ad (D) 16-18 ad
Internal load is judged by :
(i) Load volume (ii) Pulse rate
(iii) Load intensity (iv) Lactic acid concentration
idRs R 20l usA ¢
(D) ™R ¥l (i) ~d-iL wesiRl
(iii) ™R dladl (iv) alszs MR-l el
A) @), (@iv) B) (D), (v)
(©) (ii), (iv) (D) (ii), (iii)
Purpose of the test is measured through :
(A) Reliability (B) Validity
(C) Objectivity (D) Split-half method
SULAHL 8q gIRL Wl Y 8.
(A) [sau-laal (B) uMRLGdcl
(©) dqaslal (D) [Rudle s ugla
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Match Item - I with I and find out the correct options from the code given below :

Item - I Item - 1I
(1) Tensiometer (a) Range of motion around a joint
(2) Flexometer (b) Work
(3) Spirometer (c) Strength
(4) Ergometer (d) Vital Capacity
e - [ A 11 08 Ad 02 2udal Ssuiel 0 fsedl wb
aufen - I suden - 11
(1) eldler (a) il 2ueuY] sarAan
(2) sasilR (b)) sl
(3) usA{lR (c) o“a
4) SwiHler (d) auSed &Ml (Vital Capacity)
Code / 813 :

@ 6 @
A ® © @ @
B @ ® © @
O @ @ b (©
D © @ @ O

What are the items included in JCR test ?

(A) Vertical jump, Chining, Running

(B) Horizontal jump, Chining, Shuttle run

(C) Vertical jump, Chining, Shuttle run

(D) Horizontal jump, Chining, Running

Fafl2itz sA041 585 oloidl-il wuda Ay 8 ?

(A) alesa %y, A=, -2 (B) &ldlwea oy, A1, wed -
(C) alesa %y, A1, ved - (D)  SidlA-ed u, Ao, 2

The measurement of the size and proportion of the human body is called :

(A) Anthropometry (B) Plyometry

(C) Mesomorphy (D) Ectomorphy
WiaadlRell 56 B HHIAUAL HUAA s8Ud B,

(A) =gl (B) wgl

(C) ARSI (D) 25214l

Which one of the following ‘pair’ is not correctly matched ?

(A) Flexion and Extension (B) Abduction and Adduction
(C) Bone and Cartilage (D) Agonist and Antagonist
Aol 5§ s w=Adl el ?

(A) ASAA 24 [0 (B) otfsonie A idredx
(C) 135l v gl (D) Aoilke wA A2
The force created between two contacting surfaces is called is :
(A) Friction (B) Gravitation

(C) Acceleration (D) Centrifugal Force

& AWAN 92 gl Wy A ¥ 60 BeuL Ul

(A)  wdwl (B) szl

(C) uda (D) FwouMlan
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11 Insulin is produced by

(A) Sex glands (B) Pancreas

(C) Thyroid gland (D) None of these
Sl gl Gl uy 8.

(A)  dla a2} (B) aughis

(C)  assAS3 2l (D) uHiell A <Al

12 Bicep muscle attached on the forearm acts as :

(A) First class lever (B) Second class lever
(C) Third class lever (D) None of these
oLl Y SlR2A AAG A 4 siullR[d Bas :

(A) usdl usiRs Grlan (B) oflon usizd Gana-
(C) Ao usie Guad (D) Mgl st Al

13  Knee joint is a .

(A) Ball and Socket join (B) Hinge joint

(C) Pivot joint (D) None of these
geell uil &,

(A) ola-ul3e ikl (B) [l ikl

(C) 4dl wiv) (D) 1 U4 siuel Al

14 Newton's second law of motion is called :

(A) Law of reaction (B) Law of inertia
(C) Law of acceleration (D) Law of gravity
“yerint Aldnl oflon HyHA sy 8.

(A)  ueend-Al My (B) 3casll [Mun

(C) uda-l MHun (D) cusie My

15  St. John Ambulance Association deals with :

(A) Health Education (B) Physical Education
(C) Medical Education (D) First-Aid

Ae ol Bsoya- AR Aole A B,

(A) RaRrey [uaw B) wiks Ras

(G EETERT R (D) walis Guar
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20

Night blindness is caused due to deficiency of vitamin :

(A) Vitamin D
(C) Vitamin E

(B)
(D)

idonug] s el Grruell 2iu & -

(A) [ew{li D
(© [arlla E

(B)
D)

Vitamin A
Vitamin K

[Berdla A
2l K

The water balance of the body is maintained by :

(A) Gall bladder
(C) Liver

w3l welL e M 82 9.

(A) Rdiga
(©) ugd

(B)
(D)

(B)
)

Kidney
Heart

(331
3]

Following food components do not produced heat and energy in the body :

(i) Protein
(iti) Fat

Select correct answer :
Al sar viAs wefl adlui Geldl A alsa Gut sl «ell ?

G WA

(iif) azell

AIRLL FAoL YRiE $A :
(A) @), (i)

(©) (i), (iv)

ATP stored in
(A) Liver
(C) Nerve Cell

ATP T TIU R

(A) ugd
(C) Hormdg s

The range of normal body temperature is :

(A) 82°-88°F
(C) 70°-72°F

AR ABU A §1Y B

(A) 82°-88°F
(C) 70°-72°F

BPK-21014 D |

(i)
(iv)

(i)
(iv)
(B)
(D)
(B)
(D)
(®)
(D)
®)
D)

®)
D)

Vitamin
Minerals

EEIR ST
vi{logdedl

@), (iii)
(i), (iv)

Muscle Cell
None of the above

RAUYSIY
Guz~l Ul fdue ALl

96°-99° F
None of the above

96°-99° F
Gur-L 44 aduel Al
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21  What are the effect of exercise on circulatory system ?
(i) Changes in Heart size
(ii) Decreased in Heart size
(iii) Changes in blood volume and Haemoglobin content
(iv) Changes in capillary density and hypertrophy of skeletal muscles
Find the correct answer from the following :
suq sl 3RABARL dot Y2 g A wu B ?
(i)  esdrll el 3SR WA
(i) &eurll YOS U2
(i) el wawet 1A Rl 38R WA
(iv) 302 3ust undl A Ss1a Y- Ay wdl Ris
(Aaiell 2l wae Wl

(A) (D), (D), (ii1) (B) @), @), (iD), (iv)
(C) (i), (iii), (iv) (D) (), (iii), (iv)
22 The fatigue is the result of accumulation of :
(A) Carbonic acid (B) Sulphuric acid
(C) Lactic acid (D) All of the above
L GRLAl $128L sl w9,

(A)  selils Al B) usyRs vk
(C) alzes 3 (D) GuatiL oiaL %

23  Anaerobic exercise are of :

(A) Short duration (B) Long duration
(C) Both (A) and (B) (D) None of these
N6 s SlU O :

(A)  ésueusl (B) aiowououdl

(C) (A) 21 (B) 6in (D) uHigll sidua «dl

24 A muscle contracts, but no movements takes place, it is known as :

(A) Isometric (B) Isotonic

(C) TIsokinetic (D) None of these

Y 5 ¥ AslAww B ug s sadudd ud fld 0 a3
Ay 9,

(A) usANIs B) uSUAMS

(C) »udAlsads (D) gl siduel Al

25 The shape of heart is

(A) Round (B) Cone

(C) Triangular (D) Shapeless
eeyrl BUSIR 8.

(A) 2o (B) g

©) bBisw (D) $eol

BPK-21014 D | 6 [ Contd...



26

27

28

29

30

Identify the sequential order for a particular lesson from start to end of the
lesson :

(A) Teaching, Warming, Lead-up activity, Practice
(B) Warming, Teaching, Practice, Lead-up activity
(C) Lead-up activity, Practice, Warming, Teaching
(D) Practice, Warming, Teaching, Lead-up activity
LS ARl A3vUAl id YAl LU s3 Glevil :
(A) e, Guulrs, dls-wy uald, ylad-

(B) Gwulzs, Rae, yeriad-, dla-2u uglt

(©) dls-»u ugld, yARldd-, G2uds, Qe

(D) y-uad+, Gwuuzs, Raey; dli-2v ughkt

The test of significance used for comparing two means is :

(A) F-test (B) t-test

(C) Chi-square (D) Correlation

oL Heygl«{l arvpmelldl saludl w2 sALHL GuAlal w8,
(A) F-sidt (B) t-sulél

(C) sl (D) AsRiiY

The term kurtosis refers to

(A) Flatness of curve (B) Length of curve
(C) Size of curve (D) Extremes of curve
s§edl YA .

(A) aaisl 3dedl (B) aaisdl deus

(C) adisd s¢ (D) adis+it S

In a single knock-out fixture for 22 teams, the number of byes to be given
will be

22 M il 2eoitde udidi  Avami sy wuudl W,
(A) 16 (B) 10

C) 12 (D) 08

In athletics running time shall be taken from the _
(A) Sound of the gun (B) Flash / Smoke
(C) Whistle (D) None of these
e lsuui ldl UHY ol daiil wd 8.

(A) elgsil vl (B) 651U [ guLsl
(C) R0 (D) il 518 el
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31 First step in sport management is

(A) Budgeting (B) Co-ordinating
(C) Planning (D) Directing
iz Adgi-ed usq waly 8.

(A) »islou (B) Risar-yiAndl
(©)  udl%- (D) wwled-

32 (i) Playing area of Golf is known as ‘Course’
(i) Playing area of Hockey is known as ‘Ground’
(iii) Playing area of Squash is known as ‘Court’
(iv) Playing area of Shot-put is known as ‘Track’
Find correct answer :
(A) (i) and (iv) false (B) (i), (ii) and (ii1) true
(C) (i), (iii) and (iv) true (D) (i), (i), (iii) and (iv) false
(i) olles Wd RrdRA S add »avua
(i) S8l ™ud RraRA Asi’ ddld dlavuy
(i) 24198 Wd RRARA ‘42’ ¢} suvu
(iv) 0o &5 ™ [RdRA ‘28" ddld vuviy
AIAL Fetlor Al
(A) (1) @A ([{v) g B) (@), (i) 21 (i) W
(C) (i), (iii) ¥ (iv) u D) (), (i), (iii) A (iv) ©g

33 Freud, originated the :
(A) Psycho-physiological theory (B) Psycho-analytic theory

(C) Somemetic theory (D) Psycho-somatic theory
33 2lus 9 :
(A) Au-BhUdosd Bad (B) wsl Adads Badl
(C) AAs Bad (D) s AARs Rudl

34 Find out which is not the law of learning :
(A) Law of readiness (B) Law of effect
(C) Law of reaction (D) Law of exercise
(3A-unidl sal vl Fay ol d 0 e
(A)  deurdisil [Fum (B) - [Han
(C)  wcEud-l Mau (D) s+l M

35 Which test for doping ?

(A) Sugar test (B) Urine test
(C) Stool test (D) Blood test
Ao M2 58 AUl sl 20d 8 7

(A)  wbudl dwn (B) wel dw
(C©) ol awia D) Al du
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37

38

39

40

Olympic moto in correct order :

(i) Higher (i) Faster (iii)) Stronger
(A) (i), (ii) and (iii) (B) (i), (i) and (iii)
(C) (i), (ii) and (1) (D) (i), (iii) and (i)
2NalAs Gras AR $1UL Sl

(i) swR (i) skeR (iii) glRrR
(A) (i), (i) @A (iii) (B) (ii), (i) 1 (iii)
(C) (i), (i) @7 (1) (D) (i), (iii) 2 (i)
Which of the following game has no separate time keeper ?
(A) Basketball (B) Kabaddi

(C) Kho-Kho (D) Football

A2l 55 Jaul gl uxy AAuRlisR €ldl el :

(A) euRdeela (B) su1dl

(C) wil-vil (D) gaolla

Find the water soluble vitamins from the following :

(i) Vitamin A (ii)) Vitamin B

(iii)) Vitamin K (iv) Vitamin D

(iv) Vitamin C

Find the correct answer from the following :

QAniefl 5 Rardlq welui g (ioell) a8 ¢

() [@asfl4 A () [ewn{lw B

(i) [awdla K (iv) RaHld D

(iv) Rewll« C

il wAlL ool N

(A) (1), (1), (i) B) @), )

(C) (i), (i) (D) (i), (iv), (iii)
Arrange the following women events introduced in the Olympic from first
to last sequence :

(i) Cycling (Track Events) (i1)) Basketball

(iii)) Weight Lifting (iv) Boxing

Find the correct answer from the following :

alUsHL 2l 1A oeudd wald wzviad] 2oy sHUL ANsdl :

(i) wasdla (3s) () ouedesily

(iii) aselusdlol (iv) oiella

(lR-unidl = g A4l

(A) (@), (i), (i), (iv) (B) (i), (@), (ii1), (iv)

©) ®, i), (iv), (iii) D) (@), (i), (1), (iv)
Which are the purposes of Measurement and Evaluation ?

(i) Prediction (ii)) Motivation (iii) Achievement

(iv) Diagnosis
Find the correct answer from the following :
YA e Hedisel &gl 4 8 7

i) ydawrel (i) ¥weu (iii) Gualed
@iv) [em

2ol 1AL waier WAL

(A) (1), (), (ii) (B) (1), (ii1), (iv)

(C) (@), (iii), (iv) D) (@), (i), (i), (iv)
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42

What is the purpose of doing research ?

(A) To identify problem (B) To find the solution
(C) Observation (D) Both (A) and (B)
Aglun sl wiea-dl 8¢ 4 B ?

(A) v vinw (B) uuA 8a sl

(C) waels- (D) (A) 21 (B) ¢

In group interview there are -

(A) One interviewer and one interviewee

(B) More than one interviewer and one interviewee

(C) One interviewer and more than one interviewee

(D) More than one interviewer and more than one interviewee

%Y YelsldHl i

(A) s Hasld d-R 2 3s yausidl

(B) A5 5l A4 Hdlsld AR 2 s yeusidl
(C) s yalsid AR A s yeusidlil

(D) s sl A4R Halsid AR i 4y Yausidli

43  Arrange the following phases of research in correct sequence :
(i) Analysis of data (ii) Drawing conclusions
(iii) Testing hypothesis (iv) Collecting data
13 oRuda AU dotssil AL $3AL dsal
() Al yease () [Meldl draw
(iii) Geseusu sl 1v) lsdl visollsm
(A) (i), (i), (i), (iv) (B) (i), (v), (i), (@)
€ (@), (@), (), (1) D)y (i), (i), Gv), ()
44 “Hypothesis is to be checked not to be proved” - statement is
(A) True (B) False
(C) Partial true (D) Partial false
“Beseusinl AstAAld 8 Al 3 wlrd s - AL
A) (B) ¢
(C) »iad: Yy (D) iud: v
45 The process of selecting a sample from a population is known as -
(A) Sampling (B) Census
(C) Survey (D) None of these
ARl Ayl waigoll srai-l wBaA daviy 8.
(A) -l (B) ol
(C) udawt (D) 2unidl 515 <l
BPK-21014_D | 10

[ Contd...



4 .y

46

47

48

49

50

For development of questionnaire :

(i) Initial writing (ii)) Trial run
(iii) Tabulation (iv) Rewriting
The correct sequence of the above steps should be :
Ul oriqal yie ¢

i) wl™Ms quye (ii) 24

(ii)) wadl (iv) y-auuel

Gul WLl AL 1AL el ¢

(A) (D), (i), (), (iv) B) (i), (iD), (iv), (@)
©€) @, (i), (iv), (ii) D) (@), (1), (iii), (iv)

How do sports injuries occur ?

(A) Lack of knowledge

(B) Carelessness

(C) Inadequate training, technique and equipment
(D) All of the above

WdAHdUl S 3l Ad wiy ?

(A)  suAsl veuadl

(B) sexsidledl

(©) 2yl atelln, ufaf 21 wa-

(D) Gu+l &4 %

Swelling is reduced by

(A) Sauna bath ~ (B) Whirlpool bath

(C) Contrast bath (D) All of the above
AR g2 .

(A) -l euy (B) wsdyd oly

(C) $-2Re ouy (D) Gur-l 614 %

What is the immediate management of sprain, strain and tendon injuries ?
(A) Using ice packs (B) Use of hot water

(C) Infrared Lamp (D) None of these

{2, gt AR eigoid-ll S dicsilis Feinter s2a1 w2 g su & ?
(A) 2uSAUsL Guylal (B) a3 wiell-l Guylal
(C)  S-8133 olestril Gulat (D) 21t U4 ASuwr Al
The polymetric training is more closely related to :

(A) Throwers (B) Sprinters

(C) Middle distance runners (D) Jumpers

QARARS dtelliA ol qoiy § ¢

(A) &l Ba : (B) »:l g3l B

(C)  wan el By (D) gl But
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